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8_Building Roads

(2 points/2 points/6 points/10 points)
Time Limit: 2.5 seconds

Memory Limit: 1024 MB

Statement

The city of YTP has a total of IV tall buildings, connected by M bidirectional roads. Buildings are reachable
from each other initially. In other words, for any pair of buildings U and V/, there exists some buildings

S1, 89, ...,Sk such that there is a road between U and s1, s; and s;.1, S and V. Each road is controlled by
a different group, and passing through road ¢ requires paying a toll of W; dollars. To beautify the city, the
YTP government plans to demolish some of these roads while maintaining the ability for buildings to reach
each other. This announcement has caused panic among the groups. As a particularly clever person, you
want to know the minimum total toll fee required to preserve road <.

Input Format

The first line of the input consists of two integers N and M, representing the number of buildings and the
number of bidirectional roads.

The next M lines describe the roads, with each line consisting of three integers, U;, V;, W;, indicating that
road % connects city U; and V; bidirectionally with a toll of W; dollars.

Output Format

Output M lines. The ¢-th line is the minimum total toll fee required to preserve road <.

Constraints

2 < N <5 x10°

N —1< M < min( Y52 10%).

1<U;,V; < NA<i<M).
Ui #Vi(1 <i < M)
e 1<W; <10°(1 <i< M.

It is guaranteed that the buildings are reachable from each other initially, and no two different roads
connect the same pair of buildings.

Subtasks

Subtask 1 satisfies that M < NN + 20.
Subtask 2 satisfies that N < 2000.
Subtask 3 satisfies that N < 50 000.

Subtask 4 has no additional constraints.
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lllustrations

In example 1:
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If we preserve road 1, one possible solution is to preserve road 3 and road 4, then all buildings are able to
reach each other. The toll of this solution is 8 dollars, which is the minimum among all solutions.

For ¢ = 2, the following road is used. It can be proven that there is no better way to achieve a lower toll fee.
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In example 2, there is only one road, so it must be kept.
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